15 fo

AT IRESRRTEL 100 LHE SR ELME = REE UL
—~ ARA(E 89 %) |
(A= p A 11 AW > 55 58 —M % ho—

A I5 M p= 15 x3 + 4= 494)

g R IRROR YIS

(1) 201700000=____

) 0.00000000702=__

O o000~ ——

4 TXI0+ex10=___

(5)  3x10°—5x10"=____

©)  (5x10° x(8x10°)=___

M« 2.7>.<102 H(3X10)=_____

®)  10/NK AR R B

©) TFoMFEERR A BIESARNEER A%
(10) EREIR—EMERT5E 30 ir824: - HEU2E0E B BRIT 3

R - Al—OhERA He

(11)

(12)

(13)

(14

(15)

6)

(17)

(18)

(19)

1
Fiox= 7 Rl 20x-+5=

= x=5" A 3x+15 9{H R °
75 x=—4 - H20—5x=

{BfE 4x—5+3x—2=

P AN
(B xo (=)=
B3 (2x—5)—4(5x—2) =

e 3X—2 3x—1
ﬂ:ﬁzﬁ 3 2 .

e - FE=EAEEENREARL - A~ OBRFER VW - 5K
W ESHGRRR - Rl L {EANERFN {Ell_IAYEE R -

LANALS AN
\ C}Q‘?D ; NOTO )

BRYYIE 15T — PRSI S TT « 5 3 BRTEERD S M

Gk RIFR E IT (B x o > ZR1LRE)




BT Y —Te— O x BV{E -
20) 3Ir—2=x+8

1) 4 (5x—2)=52

2
(22) -3'31’—7= —1

3x+1 x—5
(23) 5 2

Q4) 3 (26-5) —5a=4 (—3x+7) —4

25 5

T R S oy 0 10 99)
1~ BERIER P E— AR BIPNEER=027 Ka=___

NI e

2~ BRIEEG 710 T ESREe oa et FE - ZRASE 12008 Al
£ 3 NE7E S H8 AT 100 5t - RIRIER 220 7T - 356 710 3T %

A 7




ABETIRESRARYTE 100 2F K 58 LS %‘“3%%%%%%%%%

B FAR(HE 89 )

]

| gig T A JJ
(GE=4 w1 s 5558 —MShm—i WA
Bldo : K158 S 15 x 3 + 4 = 49 5)

1 2 3 4 5

6 7 8 9 10

3 12 13 14 15

16 17 18 19 20

21 22 23 24 25

—

“HEAC (ERESs H 109

= sl 5

1

o IR I B <P IS AT
TS T SRS » SR T SRR T 1 R

m5 - F S PERSR T E R - B B RIRR 35 PR T
FTE - AEEEES TR TES - SRR TR RIE L |

GEEEAGET 155 SERS B R SRR T S0

_ it 5 g P RO P R e e R R 0

o e




